www.allabtengg.com

Question Pagg-‘fCode : 71726

Electronics and Co:

EC 6303 — SIGN

(Common to Biomedical Engineering and Medical Electronics Enginecring)
jons 2013)
Maximum : 100 marks

ted if any, may be indicated)

1. Find the summation x(n) = > 5(n-1)si

n=x

2. Definea linea'r system.

3.  What is the condition for the existenee of Fourier series for a signal?

4.  State Parseval’s theorem for a co i s time aperiodic signal.

5. Gi'v.e_the expression for convolution

6 Given h (t), what is the step respon ‘a CT LTI system

7.  What is the z transform of a unit ** nce ‘

8. Find x(w) of the signal for _'}j '_f the =z-transform is given by
=)

9.  Whatis the necessary and slufﬁci ent conc ion on impulse response for stability

of a casual LTI system?

~ 10. What is the difference between recursive and nonrecursive systems?
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14. (a) State and prove Sampling thec

(b) State and prove the following ies of DTFT

(i) Differentiation in freqy

(1) Convolution in frequency

15. (a) Perform convolution to find th
for the input sequences x, (% _ (n) respectively. :
® =wm={-123 ki
@) x,0)={,232 h@

put x(n) and output y(n) are relaeed ;
5= 3= -2 y(n-2) = =(m).
H (¢’”) and the impulse response h(n)

(b) For a causal LTI system the 3
through a difference
Determine the frequency response
of the system.

PART C— (1% 15= 15 marks)

16. (a) Using Laplace Transform dete e response of the system described

2 !
by the equation %ﬁi»s: =% ith: suitial ‘conditions
y(0)=0; i‘z(t—t) =1 for the input x(t) = e *u(t) -

t=0

e

(b) Determine the steady sta

e for the system with impulse
response h(n)=[j 0.5]" for ;

:(n) = cos(z n)u(n).-
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